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303 Sharpe

Rati o Reward-to-CTE ratio Reward-to-VaR r a:

Sharpe Rati o Reward-t o-

aR ratiTE ratio

TI PP N A N A

4 %



100%

TI PP
100 %
0 %
0 %
0 %
0 %
TIPP
100 %
0 %
0 %
1

100%

TIPP

100%

TIPP

100%

TI PP

100%

0%

0%

0%

0%

0%

CM

57 %

TI PP

100%

TIPP

6 %

%

%

%

%

%

N A

N A

N A

0%

0%

0%

0%

0%

N A

N A

N A

%

%

%

%

%



(1) 0% 10% 20 %. 100% 11
6 - 2
100 %
TI PP 100 % TIPP
TIPP
TIPP
0 %
0 %
0% 10 % 20 9% 3|10 % 4009 50 % 60 % F 0 % 80 %
108013681 ®1218&2620®182H932F5525062647. 5
BH 12(5. 93 714. 47
6 9 9 3 0 4 4 1 4
14102®B232®47. 5
CM 12(5. 93 1601. 63 210. 93 279. 64 376|. 26 513| 20 709. 13
1 9 4
13401&792@47. 5
TI1 PIP 1125. 93 161. 4|5 210. 3 278. 27 37|3. 19 506.60 694. 9
4 5 4
BH 12(5. 93 13R.51 141. 78 15Q0. 95 159.696158|. 282 155%. 53
CM 12(5. 93 12D. 34 133.50 138.50 142. 48£23159| 202159. 71
TI1 PIP 1125. 93 1R9. 2|5 133. 27 138. 08 .153.15916[9.403.153.1




BH 12|5. 93 98|. 43 82| 15 7033 60.907052.2003. 785. 92

CM 125.93 104. 22 86| 44 71,87 59.964250.230. 782. 43

TI PIP 1125. 93 1p4. 1|9 86. 39 73.24 67| 844969 .18 . 8§14 . 78

BH 125.93 176.08 225.91| 274.33| 327. 8621383 B91435. 69

CM 125.93 14B.90| 176.40| 209.32| 248/. 60426835 981362 . 77

T1 P|P 1125. 93 148. 7|7 176.0p 208.60 2@¢9.88622606B.5913@38.5

BH 12|5.93 12p.56] 119.02| 115. 26| 111|.85.|9206( P®. 1102. 39

CM 125.93 11p. 89 114.23| 108.95| 103|.3993399.3%2. 134. 95

TI PIP 1125. 93 119.82 114.09 108. 71 10/38546298/.7092. 134. 46

BH 125.93 12p. 23| 114.17| 107.69| 100|{. §04493.1077. 08B4.61

CM 12|5. 93 97|. 14 75| 74 59179 47 .879938.196. 0B2. 22 I

T1 P|P 125. 93 917 . 11 75. 70 59.83 48| 837041.P47. 8B5. 70

BH 12|5.93 12p6.18 126.64| 127.41| 1238|.63§130( 3841833. 78

CM 125.93 13B.33| 152.68| 169.34| 188|. 352204 884233. 21

TI PIP 1125. 93 1B8. 2|13 1%2.4H 168.89 1B0.32129PR. 38923b. 7

BH 125.93 124.35 122.61| 120.66| 1148|. &4 | 585 &®. BB2. 76

CM 12|5.93 11p. 03] 100. 97 92,009 84.871578.%0p. 834.00 (

T1 P|P 125. 93 111.98 100. 90 91. 98 84 219478 .pr@2. 193. 77

BH 12|5.93 124.27 122.44| 120.38| 118|. ®3L| BB5( 2B .2¥Y1. 92

CM 12(5. 93 91. 26 68 38 52,90 42.168134.15p3. 228. 92 :

TI PIP 1125. 93 911. 2 6 68. 39 52.91 42| 224634 .[I776. 329. 35

(2) 0% 10% 20%. .. 100% 11

100%

0 %

0 %



BH CM

TIPP
TIPP TIPP
TIPP 100 %
100% 0 %
TIPP 100 %
100 %
0% 10% 20% 310% 40% 50 % 6 0% f 0 % 80%
BH 3./00%| 10.|54%| 12.55%|[13.[76% [14. 6/2%01% 274.9%B0%B. 82%
CM 3./]00%| 4. 68% 6. 30% 7.86/(% 937% 10.|873.%WB[A%B. 25% 13.
T1I PP 3.00% 4.,45% 5.B9% 7.33% 8.77% 10.270.9B8A%. 63 %
BH 3./00% 4. 50% 5.410 % 6.08% 6[]60% 7.04% (/.41% 7. 73
CM 3./00% 3. 7T1% 4. 3P0% 5.03[% 5/63% 6. 20% 6. 74% 7. 26
TI PP 3. 00% 3/59% 4. 07% 4. 74% 5. 31% 5..86% 6. 40% 6.
B H 3./]00% 3.33% 3.24% B.01(% 2|/70% 2. 33%%1L.89% 1. 36
CM 3./]00% 3.05% 3.00% 2. 88% 2/]64% 2.31%%L.89% 1. 36
T1I PP 3.00% 2./73% 2.82% 2.18% 2.26% 2./75%| 3.41% 4.
BH 3./]00% 4. 24 % 5. 0P % 5. 74% 6|]26% 6.69% (/. 05% 7. 35
CM 3./00% 3. 66% 4. 28% 4. 87% 5[]42% 5. 94% 6. 44% 6. 91
TI PP 3. 00% 3/54% 4. 07% 4.60% 5. 11% 5.62%| 6. 12% 6.
B H 3./]00% 2.81% 2.60% 2.39% 2/15% 1.89% [1.59% 1. 27
CM 3./]00% 2. 71% 2.42% 2. 13% 1/84% 1.8954% |1.24% 0. 94

13



TI PP . 004 | 69 % . B9 % .08% 1.78% 1.47®%1.16% 0.8
BH 3./00% 74 % 5% P.11% 1/]73% 1.28%199.72% 0.00
CM 3./00% .06 % 8% 0P.05% -1.03% -2/-19%.%1%. 35% - 4.
TI PP . 004 | 84 % . B7% |-0.50% F1.5/8%6-92.-564.940%. 40 % -
BH 3./00% . 82% N% P.39% 2/13% 1.83%%L.47% 1.04
CM 3./00% 96 % P% P.59% 2/26% 1.84%%.31% 0. 68
TI PP . 004 | 63 % . P4% .8/3% 1.38% 0. 90%|80. 39% - 0.
BH 3./00% . 15% S% P.16/% 1/]79% 1.34%9.79% 0.06
CM 3./00% .02 % D% 10.08% -1.21(% -2/.-30.9%4%. 63% - 4
TI PP . 004 | 79 % .59 % 0.62% | 1. 8/3%6-98.-04.9%20%. 28 % -
-17 |81
BH 3./00% . 15% 8% P.16/% 1/]78% 1.32% [0.76% 0.01
%
-10./-18B2 |414 |- 747 |81
CM 3./00% . 37% . 34% |- 13% -|4.00% -%5. 95/% -8.00%
% % % %
-11./1D3 |0u4 . |9%66 |88
TI PP . 004 194 % | 10% 3./13%|-5.17% {7.18% -9.15%
% % % %
6- 3
(3) Sharpe Ratio
6- 4
1.0% 1. 5%
BH BH
CM TI1 PP
Sharpe
Rati o Sharpe Ratio



Standaf d
0% 10 % 20% 0% |40% 50% |609% 7(

Deviatijon
BH 0./]10% O0.|60% 79%|0.89% Q. 95% 0,999
CM 0./]10% O0.[10% 10%|{0. 10% Q. 11(% 0,129
TI PP Q. 10|% .10M 10% 0.10%|0. 110% 0. 11
BH 0.10% O0.|]12% 1L6% (0. 20% Q. 24|/% 0., 2879
CM 0.10% O0.|]10% L0% (0. 10% Q. 11|% 0, 119
TI PP Q. 10|% .10 10% 0.10%|0. 1|10% 11
B H 0.10% O0.|]110% 11%(0. 12% Q. 13|% 0,139
CM 0./]10% O0.[10% 10%|{0. 10% Q. 11(% 0,119
TI PP Q. 10|% .10M 10% 0.10%|0. 1|11% 0. 11
BH 0.10% O0.|11% 14%(0. 1(7% Q. 21|% 0., 2479
CM 0.10% O0.|]10% L0% (0. 10% Q. 11|% 0| 119
TI PP Q. 10|% .10 10% 0.10%|0. 1|10% 11
BH 0.10% O0.|]110% L0% (0. 10% Q. 10/% 0,109
CM 0./]10% O0.[10% 10%|0. 10% Q. 10(% 0,109
TI PP Q. 10|% .10M 10% 0.10%|0. 110% 0. 10
BH 0.10% O0.|]10% L0% (0. 10% Q. 10/% 0,109
CM 0.10% O0.|]10% L0% (0. 10% Q. 10/% 0,109
TI PP Q. 10|% .10 10% 0.120%|0. 1|10% 10
B H 0.10% O0.|]110% L0% (0. 10% Q. 10/% 0,109
CM 0./]10% O0.[10% 10%|{0. 10% Q. 11% 0,119
TI PP Q. 10|% .10M 10% 0.10%|0. 1|11% 0. 11
BH 0.10% O0.|]110% L0% (0. 10% Q. 10/% 0,109
CM 0.10% O0.|]10% L0% (0. 10% Q. 10/% 0,109
TI PP Q. 10|% .10 10% 0.10%|0. 1|10% .11
BH 0.10% O0.|]110% L0% (0. 10% Q. 10/% 0,109
CM 0./]10% O0.[10% 10%|0. 10% Q. 10(% 0,109
TI PP Q. 10|% .10M 10% 0.10%|0. 1|11% 0. 11

6-4

%

%

80%

13%

. 12%

.31 %

12%
.11 %
14%
12%

. 12%

.27 %

12%
.11 %
10%
10%
.10%
10%
10%
.11 %
10%
12%
. 12%
10%
10%
.11 %
10%
11%

. 12%
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0.

0.

0.

0.

1

1

0.

1

1

0.

1

0.

1

1

0.

1

0.
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(4) Reward-to-VaR ratio 95 %
3 % 95 %
Reward-to-VaR ratio
6-5 N A 95 %

reward tlo VaR95 0% 10%| 20% (30%| 40% 50%| 60% 70%
BH (0.03) N A NA N|A NA N A NA NA N A
CM (0.03) N A NA N|A NA N A NA NA N A
TIPP (lo. 0F3) NA N A NA N A N A N A N A NA
BH (0.03) N A NA N|A NA NA NA NA NA
CMm (0.03) N A NA N|A NA NA NA NA NA
TIPP (lo. 0P3) NA N A NA N A N A NA N A NA
BH (0.03) NA [12.87 |[0.05 (DP.51) (0Q..6679)(0.73) (0
CM (0.03) 1| 66 0/59 | 0.p2 0.26) ((00..4p08)) (0. 48) (
TIPP (lo.0B) 0.64 24 0/01](0./19)/(0.|55) (1.48)
BH (0.03) N A NA N|A NA NA NA NA N A
CMm (0.03) N A NA N|A NA NA NA NA NA
TIPP (lo. 0B3) NA N A NA N A N A NA NA NA
BH (0.03) (d.54) (0.70) (0.78) (0. 82) ((00.880) (0. 84)
CMm (o.03) (d.63) (0.75) (d.78)) (ol 79 ((00.8%00) (0. 80)
TIPP (lo. o0B) (0. 6[5) 0.75) (0. 7(8) (|0.89) ((0..880)) ( 0. 80
BH (0.03) (G.62) (0.78) (0.85) (0 89) ((00].989)(0.93)
CM (ol.o3) (d.84) (0.89) (d.90) (o] 90} ((00].9809) (0. 89)
TIPP (lo. 0B) (0. 8|5) 0.88) (|0.8/9) (|0.89) ((§0..9200)) (0. 91
BH (0.03) (g.52) (0.68) (0.75) (0. 78) ((00[.8702))(0.80)
CMm (0.03) (q.15)) ( + .31]) (0. 42) (0. 50) ((00].5762))( 0. 61)




TI PP (lo.0B) (0. 6/0) 0.64) ((]0.6/6) (|0.89) ((P0..6780)) ( 0. 6 8
B H (0.03) (g.60) (0.76) (0.83) (0. 87) ((00].9818)( 0. 93)
CM (0.03) (Q. 84| (&.88)(0.89) (0. 89) ((00/.8898)) (0. 89)
TIPP (lo. 0B) (0. 8|5) 0.88) (|0.8[8) (|0.88) ((p0..8838))( 0. 838
BH (0.03) (g.60) (0.76) (0.83) (0. 88) ((00[.9911)) (0. 93)
CM (0.03) (Q.89) (&.92)(0.92) (0. 92) ((00].9%21)) (0. 92)
TI PP (lo. 0B) (0. 8l9) 0.91) (0. 9]1) (|0.9D) ((P0..9910)) ( 0. 9C
6-5 Reward-tat VvaR
6-5 3%
Reward-to-VaR ratio
3%
(5) Reward-to-CTE ratio
Reward-to-CTE ratio
6-6 N A
reward t|o CTE9$ 0 % 0% 20% [(30%| 40% 50%| 60% 70%
B H (0. 03) N A N A N|A N A N A N A N A N A
CM (0. 03) N A N A N|A N A N A N A N A N A
TI PP (lo. 03) N A N A N A N A N A N A N A N A
BH (0. 03) N A N A N|A N A N A N A N A N A
CM (0. 03) N A N A N N A N A N A N A N A
TI PP (lo. 03) N A N A N A N A N A N A N A N A
B H (0. 03) N A 8. 9|7 .04 (0.50[) (0 6666])(0.73) (0.
CM (0.03) 0| 25 0/03 [(0./16)[(0.[30) |((00..4606)) ( 0. 47) |




TIPP (J0. 0@8) (0. 5[1) 0.56) ((0.56) ([0.48) (p.20) 0.51
BH 0. 03) N A NA N|A NA N A NA NA NA
CM 0. 03) N A NA N|A NA NA NA N A NA
TIPP (J]0. 03) NA N A NA N A N A NA NA NA
B H 0. 03) q.53) (0.70) (0.77) (0. 80a) ((00].8729)) (0. 83)
CM 0. 03) d.62)) (0.73) (d.77) (ol 78) ((00.7799) (0. 79)
TIPP (lo.0B) (0. 6/4) 0.74) (Jo. 7(7) (|0.78) (($0..7799)) ( 0. 7 9
BH 0. 03) g.61)) ( 77) (0. 84)) (0. 88) ((00].9818))( 0. 93)
CM 0. 03) 2.2686|) ( 72) (2.85)) (2| 858) ((20].7859)( 2. 61)
TIPP (Jo0. 0@8) (2. 8/6) 3.34) (|3.4/1) (|3.234) ((£0..9678)) (2. 64
B H 0. 03) ¢.52) (0.67) (0.74) (0 78) ((00.7791)) (0. 79)
CM 0. 03) d.14)) (0.29) (o.40) (ol 48} ((00|.5741) (0. 58)
TI PP (lo.0B) (0. 59) 0.63) (|]0.6/4) (|0.686) ((P0..6669) ( 0. 6 7
BH 0. 03) g. 59| ((|).75)(0.83)(0.87} ((00].9808)) ( 0. 93)
CM 0. 03) g. 84| ((*).88)(0.89)(0.89] ((00|.8898)) ( 0. 8 8)
TIPP (J0. 0@8) (0. 8/4) 0.87) ((0.8/8) (|0.88) ((p0..8887))( 0. 88
B H 0. 03) g.59) (0.75) (0.83) (0 87) ((00.990)(0.92)
CM 0. 03) d. 89 ((5.91)(0.92)(0.92 ((00/.9910)) (0. 9 1)
TIPP (lo.0B) (0. 8l9) 0.90) (/0. 9/0) (|0.90) (($0..9900)) ( 0. 90C
6-6 Reward-tat COE
Reward-to-VaR ratio

CTE

S h aRaptei o r Retwa- ReRvard-to- CT

ratio

rat

i o



CM
100 % 1006 3%
TIPP TIPP CM
100% 100% 57 %
TIPP TIPP
0% 100% 100%
TI PP TI PP CM
100% 100% 65 %
0 % 0 % 0 %
0 % 0 % 0 %
TI PP
100% 0 % 0 %
0 % 0 % 0 %
0 % 0 % 0 %

N A

N A

N A

N A

0%

0 %

0%

0 %

0 %

N A

NA

NA

N A

0%

0 %

0 %

0 %

0 %



TI PP CM

(1)

0% 10% 20% BO0O%| 40(% b0%| 60% T0% 80%

BH 0100 0]00O0 0.0 0. 00 D . 0( 0. 00 0.00
CM 0{ 00 0|20 0.50 0. 92 L. 47 2. 17 2.95
TI PP D. 00 b. 20 0. 50 0.]191 1.45 2.18 2.89
BH 0100 0]00O0 0.0 0. 00 D . 0 ¢ 0. 00 0.00
CM 000 0/06 0.111 0. 16 D . 2( 0. 23 0.25
TI PP D. 00 D . 04 0 12 0./18 0.22 0. 2p 0.27
BH 0{ 00 0/00 0.100 0. 00 D. 0¢( 0. 00 0.00
CM 0 00 0|11 0.16 0. 18 D. 17 0. 14 0.11
TI PP D.00 D . 11 0 16 0./17 0.17 0.1p 0.16
BH 0100 0]00O0 0.0 0. 00 D . 0( 0. 00 0.00
CM 0100 0]14 0.29 0. 4{6 D. 62 0. 77 0. 88
TI PP D. 00 . 13 0 29 0./45 0.61 0.7p 0.87

BH 0 00 0,0 0.100 0. 00 D . 0(

o

.00 0.00

CM 0 00 0,0 0.103 0. 04 D. 04

o

.04 0.04

BH 0100 0J]0

0
2
TI PP D. 00 D. 072 0. 04 0./04 0. 05 0.0p 0.04
0
8

CM 0100 0J]0




TIPP D. 00 ). 07 .10 10 [0.08 o.of
BH oloo| of/oo| 0./o0 |0.00 0.00 of 00| O
CcM oloo| o/15| 0.]29 |0.42 o0.52 ofl 59| o0
TIPP D. 00 ). 15 .29 42 |0.52 |o.5p
BH oloo| of/oo| 0./o0 |0.00 0.00 of 00| O
CM oloo| o/o4| 0o./o5 |0.06 0.05 of 05| 0
TIPP D.00 ). 04 .06 o7 |0o.06 0.0
BH oloo| oj/oo| 0o./o0 |0.00 0.00 of 00| O
CcM oloo| o/o9 | o.[t0 |0.09 p.07 of 06| O
TIPP D. 00 ). 09 .10 o9 | 0.07 |o.o0f
6-8

0% [10% 2p% [300¢ D% |(50% 60(% T0%
BH 0/00% 0./00% 0./[00% 0.Q0% 0.00% O 00% O.
CcM 0/00% 0.[23% 0.{40% 0.52% 0. 58% 0 598 0.
TIPP 0.00% 0.01% 0. 01% 0./02% 0. 02% 0. 0R% O.
BH 0/00% 0./00% 0./[00% 0.Q0% 0.00% O 00% O.
CcM 0/00% 0./13% 0./22% 0.28% 0.31% 0 31% 0.
TIPP .00% 0.00% 0.01% 0./]01% 0. 01% 0. 00L% O.
BH 0/00% 0./00% 0./[00% 0.Q0% |0.00% O 00% O.
CcM 0/00% 0.[33% 0./59% 0. 79% 0. 93% 0 99% 0.
TIPP 0.00% Q.01/% 0. 01(% 0./01% 0. 02% [0. 0L % O.
BH 0/00% 0./00% 0./[00% 0.Q0% 0.00% O 00% O.
CcM 0/00% 0./12% 0.[21% 0.26% 0. 29% 0 30% O.
TIPP .00% 0.00% 0.01(% 0./]01% 0. 01% 0.0} %
BH 0/00% 0./00% 0./[00% 0.Q0% 0.00% O 00% O.
CcM 0/00% 0./02% 0.{03% 0.Q4% 0. 0%5% O 058 O.
TIPP .00% 0.00% O0.00[% 0.[]00% 0. 00% 0. 0p%
BH 0/00% 0./00% 0./[00% 0.Q0% 0.00% O 00% O.
CcM 0/00% 0.[22% 0.{40% 0.55% 0. 65% 0 71% O.
TIPP 0.00% 0.00% 0.01(% 0./]01% 0. 01% 0.0} %
BH 0/00% 0./00% 0./[00% 0.Q0% |0.00% O 00% O.
CcM 0/00% 0.[34% 0./61% 0.81% 0. 95% 1| 020 1.

0.

06

.00 0.

. 62 0.

0.

63

.00 0.

.04 0.

0.

05

.00 0.

.04 0.

0.

0.

0.

0.

04

80 %

00% O.

55% 0.

02 %

0
4

0.

00% O.

29% 0.

01%

0
2

0.

00% O.

98% 0.

01%

0

8

0.

00% O.

28% 0.

01%

0
2

0.

00% O.

05% 0.

00 %

0

0

0.

00% O.

71% 0.

01%

0
6

0.

00% O.

00% O.

0

9



0.

0.

0.

0.

0.

TIPP 0.00% Q.01% Of.01/% 0./]02% 0. 02% (0. 0P %
B H 0/009% 0./00% 0.{00% 0.Q0% 0.00% O 00% O.
CM 0/00% 0./]23% 0.{43% 0.58%[0.69% 0 75% 0.
TI PP 0.00% Q.00/% O0.01% 0./01% 0.01% 0. 0L %
B H 0/009% 0./00% 0.{00% 0.Q0% 0.00% O 00% O.
CM 0/009% 0./143% 0.|79% 1.0Q07% |1.26% 1| 35% 1
TIPP 0.00% Q.01% Of.01/% 0./]02% 0. 02% (0. 0P %
6-9
(2) Sharpe Ratio
TIPP CM TIPP
Sharpe Ratio
6-10 CM
Sharpe Ratio TI PP
Sharpe [Raijto (0% 10% |209% 30% (40%| 50% H0%
B H olo0o0 0./00 0.[00 |[0.00 p.o0Qg o0 00| O.
CM oloo| (0. 08) (0.62) (0/66) (0./]60) (0.
TIPP 0. 0d q.02 0. 00| o0./00 |0.Q0 (0.0
B H 0l o00 0.l00 0.[00 [0.00 Dp.0Q 0| 00| O.
CM 000 0.37 0./12 |0.04 Dp.02 o0 01| O.
TIPP D. 00 .02 0. 02| 0./01 |0.01 f0.01
B H 0lo00 0./00 0.[00 [0.00 Dp.0Q o0 00| O.
CM 0olo0o0 215 2.029 |2.140 n.82 1| 52| 1.
TIPP 0. 0d .04 0. 05| 0./04 | 0.Q04 [0.08
B H 0l o00 3./23 2.121 |1.86 pL.68 1l 57| 1.

02 %
00 %
75 %
01%
00 %
35%

02 %

70 %

00

00
01
01
00
21
02
49

0.

0.
0.

0
6

0.

0.
1.

0
2

0.

0.

BOD) (0.41)

0.

0.

€

(

0) (0.00) (

(
(

0.

0.

1.



CM 0] 00 8./74 5.[33 |3.78 Pp.95 2. 44| 2.09 1.c¢
TIPP D. 00 q.22 5.89| 4./17 |3.21 [2.6¢ 2.19 1.
BH 0|00 0./00 0./00 |0.00 Dp.oOG( 0. 00| 0.00 0.C
CM 0|00 0./14 0./113 |0.07 D.04 0. 02| 0.01 0.C
TIPP D. 00 dg.o01 0. o1/ 0./01 |0.Q1 f0.01 0.00 O.
B H 0] 00 0./00 0./00 |0.00 pP.oOQ 0. 00| 0.00 0.C
CM 0] 00 0./61 | (0/91)(1./54)|(1.]62) |(0.HB) (1.21) (
TIPP D. 00 d.o02 0. o1/ o0./01 |0.Q1 f0o.02 0.02 O.
BH 0|00 0./00 0./00 |0.00 Dp.oOG( 0. 00| 0.00 0.C
CM 0] 00 2.019 2.031 |2.09 .79 1. 47| 1.16 0. ¢
TIPP D. 00 d.04 0. o5/ 0./04 |0.Q4 0.0 0.03 O.
B H 0] 00 0./00 0./00 |0.00 pP.oOQ 0. 00| 0.00 0.C
CM 0] 00 0./55 | (0/92)(1./52)|(1.59) |(0.HD) (1.18) (
TIPP D. 00 g.o02 0. o1| o./lo00 |0.Q0 0.0 O0.00 O
BH 0|00 0./00 0./00 |0.00 Dp.oOG( 0. 00| 0.00 0.C
CM 0|00 0./04 | (2)27)(2.]78)|(2.]62)|(R.POD) (1.76) (
TIPP D. 00 d.o02 0. oo| o0./[00 |0.Q0 f0.00 0.00 O
6-10 Sharpe Ratio
( 3) Reward-to-VaR ratio Reward-to-CTE R
Reward-to-VaR ratio Reward-to-CTE R
6-11 6-12
reward tlo VaR95 0% 10% 20% [(30% | 40% 50% |60% 70%
BH 0. 00 N A N A N A N A N A NA N A N A
CM 0. 00 N A N A N A N A N A N A N A N A
TIPP 0.00pD N A N A N|A N A N A N A N A N A
BH 0. 00 N A N A N A N A N A NA N A N A
CM 0. 00 N A N A N A N A N A NA N A N A




TI PP 0.0D N A N A NIA N A N A NA N A N A
B H 0. 00 N A g. 00 0,/00 0. 00 . 04( 0. 00 0.00
CM 0. 00 2.118 1.17 0.61 0} 35 0.122 0.14 0. 1
TIPP 0.0p 1| 16 0/82 0.p9 D.30 (Q.33)) (2.01) (1
BH 0. 00 N A N A N A N A N A N A N A N A
CM 0. 00 N A N A N A N A N A N A N A N A
TI PP 0.0D N A N A NIA N A N A NA N A N A
B H 0. 00 0.00 O.?O .0p 0f 00 0.100 0.00 0. 0
CM 0. 00 0.01 O.&O 0.0pD 0( 00O (0.400)(0.00) 0. |
TI PP 0.0p 0| 00 000 0.pO D.0Q( 0. 00) (0.00) 0.
BH 0. 00 0.0 0. 0 0.00D 0} 00 0.100 0.00 0. O
CM 0. 00| 0.01 (0./01)|(0.p1) (JO. O1) (|00..00}0) (O.01) (¢
TI PP 0.0D 0. 0O 000 0.pDO0 D.O0d 0. 00 0.00 0.
B H 0. 00 0.00 0. 0 0.0p 0f 00 0.100 0.00 0. 0
CM 0. 00 0.46 0. 34 0. 24 0o} 17 0.113 0.08 0. 0
TI PP 0.0p 0| 00 000 0.pO D.0Q( 0. 00 0.00 0. |
BH 0. 00 0.0 0. 0 0.00D 0} 00 0.100 0.00 0. O
CM 0. 00| 0.01 (0./01)|(0.p1) (JO. O1) (|00..00}0) (O.01) (¢
TI PP 0.0D 0. 0O 0/00 (0./]00) 0.Q0) |0.060 0.00 0.
B H 0. 00 0.00 0. 0 0.0p 0f 00O 0.100 0.00 0. 0
CM o. ool (0./o0)| (0JOo1) (0.[01) [0.Q1) (O00.0p10) (O.01) (
TI PP 0.0p 0| 00 000 0.pO D.0Q( 0. 00 0.00 0. |
6-11 Rewar da-R or-avt i o

reward t CTE90 0% 10 % 20% 30% 4 0| % 5 0 % 6 0% 70%
BH 0. 0O N A N A N A N A N A N N A N A
CM 0. 00 N A N A N A N A N A N N A N A
TI PP 0.0 N A N A NIA N A N N A N A N A
BH 0. 00 N A N A N A N A N A N A N A N A
CM 0. 00 N A N A N A NA N A N A N A N A
TI PP 0.0 N A N A NIA N A N N A N A N A
B H 0. 00 N A g. 00 0/0O0 0.po 0. 0}0 .00 0.00
CM 0|. 00 0.(76 0.5%9 0. 4p 0. 29 0./21 0.14 0.0
TI PP 0.0 0L 01 0,01 0.pO 0. 02 .01 0.02 0.
BH 0. 00 N A N A N A N A N A N A N A N A




CM 0. 00| NA N A N A NA N A N A N A
TIPP .0 N A N A N|A N A N N A N A
BH 0. oo| o.po 0.00 op o0.00/ 0.]00 | 0.00
CM 0. oo| o.o1 0.01 [0.0p o.00f o.o0 | o0.00
TIPP .0 ol oo 0/oo | o.po |o0.0 Q.00 ©0.00
BH 0. oo| o.Jpo 0.00 [0.0p o.o00f o.o0 | o0.00
CM 0. oo| 0.52 0.57 |0.58 0.46| o0.38 [ 0.209
TIPP .0 ol 01 0/o1| 0o.p1 |o0.0 Q.00 0.00
BH 0. oo| o.po 0.00 [0.0p o.o00f o.o0 | o0.00
CM 0. 00| 0.45 0.34 |0.25 o0.18 o0.13 [ 0.009
TIPP .0 ol oo 0/oo | o.po |o0.0 Q.00 ©0.00
BH 0. oo| o.po 0.00 [0.0p o.o00f o.o0 | o0.00
CM 0. oo| 0./01 |(0./01)|(0.p1) (0.0Q1) (0.0

TIPP .0 ol oo o/oo | o.po |o0.0 Q.00 0.00
BH 0. oo| o.po 0.00 [0.0p o.o00f o.o0 | o0.00
CM 0. oo|(0.Jo0) (0Jo1) (0.[l01)[(0O0.j01) |(O.

TIPP .0 ol oo 0/oo | o.po |o0.0 Q.00 ©0.00

6-12

Rewar dI-B oRaQ i

(0]

NA
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(0.

0

0.

0.

0.

0.

0

D) (0.01) (

0.

0.

0

0.
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DD) (0.01) (






